& 7 7w 5
2 4 2 4
e ol [ s
s 4 2 & 2 ) 421ﬁ3§lﬁ% 0 4
AN A AN AT NN A
3 (s R £ ) (R RHS) 3{i(Hh R0 E)

= E/AEES I
3 Way /5 Way Pilot Type Solenoid Valve
TSM500/TSM5000 Series

Common Specification (2 [&] #14& )

3 Port 2 Position(FE L= &)

Function(Zh&E) 5 Port 2 Position(F LT ) 5 Port 3 Position(={i fLi&)
Fluid(GFEiA) Compressed Air, Inert gas(EZE=S, 1EMESE)
Eff.Sectional Area (B EER) 9.0mm? 7.5mm?

Operating Pressure({£F 1) 0.15~0.7Mpa 0.2~0.7Mpa
Max.Cycles(& A T{ESRZ) 8cls 5cls

Response Time(5bar)(& Rzftig)

20ms or Less 30ms or Less

Lubrication(ii&)

Not Required(FZE;Hi8)

Manual Override(F&1#&1E)

Push Button (Standard)(z#83) (b7 &), Lever Lock (#iE )

Power Consumption (E2 J3H3%)

Holding-DC(#4%) : 0.65W(24V:27.0mA/12V:54.0mA)

Allowable Voltage(&15H EZZ3EH)

Rated Voltage (3 € B/ )+10%

Ambient & Fluid Temp. (FE R/ REE)

5°C~60°C

Coil Insulation(4&45Z54%)

N

Normally Closed (& )

Class F or Equivalent(FZ& s tHREI & 5H!)

2 | Normally Open(% 7F) *Please Use Tubine Oil 1st-grade ISO VG32#,If Required.
3 | Double(W &) AEEEEmEERIET1SHISOVG32

e How To Order (B! SRR 55

=Rt dect

3 Way Point

*

wE - TSM3 1 3 - 5 LZ

5 Way Point

#E  TSMS5 1 20 D - &5 LZ

- 01 - S

- 01 - S
. o

Solenoid Body Type Voltage Connection Port Size Manual Override
Rk [ B SR BEOR FRIRIE
1 [Single(# £ &) Nil(Z)[ Body Ported (E# % %) 5[DC24V  LZ] L Type Terminal(LELERER) 01 [1/8 Nil(Z=)] Push Button (Standard)(#§izt) (5 &)

Double (W % B) *D | Sub-PlateType (RIEZER) 6|DC12V_ MZ| M Type Terminal(90°)(MELHER)

C6 | o6iEk S | Lever Lock (§iE=)

Double Closed Center(W A%
Double Exhaust Center(f F %53
Double Press Center( s R MER)

Dimensions(mm)(%h 2 R < B(Z X))
TSM5120-C0LZ

2-1/8
208 ‘ 16.0 (24-Por)

alrlw|N

Red

d b GG
= SV =

108 36.0 ‘ 2-3.3 Hole Black

Manual Buttonxh

HERRFBEHEEORER
g%l\lilsoo%ﬁl‘—ﬂsmsoooﬁﬁumﬁﬁﬂﬁ#'—ﬁiﬁﬁﬂ

TSM5120D-00MZ

Manual Button \h n

/ ' L‘}::n
LT
=l I =
= AT 1 I i I I : A I 2 g
@l 3 F b & : ¥ =
5 * | % u [ LJ-J — 8
3 20 135 M3x0.5 DP5.0 (Back) —_f\/’\LL
792 7 4
%07 }
1o 79.2
- T T 87.5
o 2D AN AN | ST T =
© PSAER AN -I=l—
15.4 ‘ 27.0 a1/
(1,3,5-Port)

$TETE 253

PNEUMATICS




(%)
=
'_
<
=
>
wl
=
o

=E/AES SR IR

3 Way /5 Way Pilot Type Solenoid Valve

TSM500/TSM5000 Series

Dimensions(mm)(%h 2 R ~F B(Z X))

TSM5220-00LZ

16.0

2-1/8
(2,4-Port)

7

DO |0

36.0

2—@3.3 Hole

Manual Button \h

Red

JL

Black

TSM5220D-C0MZ

Manual Button \m n

.

I}

34.0

56.0

Q{DYZA

(B3

101.0

117.5

iy i M = %
o |
g g L I = e
f = ° u: 0 “ fa
L PR .
135 M3050P50 | (Back)
101.0
1240
— Vo A AN A T S
s == H O 0-O-OrOHIE=
L 3-1/8
(1,3,5—Port)

Dimensions(mm) (7t R < Bl(Z K))

TSM5320-00LZ

2-1/8

160 (2.4-Port)

i
1116,
&
\
ol
fah)

36.0 2-(3.3 Hole

Manual Button \
T

> @%\]EEBEZ%
|

Red

Black

31.0
=

340
=
|

i

|
B dj i

135 M3x0.5 DP5.0

(Back)

5.0
il
N
(1]
1]
o
'
$
J
in)
¥
i)
e
|

3-1/8
(1,3,5-Port)

TSM5320D-C0MZ

Manual Button \7

i}
T
é{

%H

34.0

56.0

=i ==



=E/AET S B
3 Way /5 Way Pilot Type Solenoid Valve
TSM500/TSM5000 Series

PNEUMATICS

Dimensions(mm)(4h 2 R ~t E(Z X))

TSM5420-[0LZ TSM5420D-C1MZ
160 ‘ (22'1 E;m) g
—estE RN |- =
360 \ 2-03.3 Hole Black
Manual Bution D Vanual Buton D

31.0

1

= ! I

LW%(;L M3x0.5 DP5.0 (Back) (;@@L :}

) 1275

e M V72 D M ST T e
== a1 pBlF =
27.2 3-1/8

(1,3,5-Port)

56.0

N

15.0

TSM5520-00LZ TSM5520D-C0MZ

16.0 2-1/8
(2.4-Port) Red

== PR [0

360 ‘ 2-33.3 Hole Black

Manual Button D Manual Button
; \n — 2o

»
_ %4 |

= f- AT
L%(;Js M3x0.5 DP5.0 (BaCk) fz@ @1

=

34.0

31.0

T
il

[

|

=25
10

.

L

)

= [ [7 D
== O=0-d'q

4

15.0

fif

J

N
J
N
AN

R

1
27.2 \ /8
(1.3,5-Port)

TSM5000D Serials Sub-Plat Type 2305 27044 Hoke

(TSM5000D % %Il F ik EE) A
E=y -
D
,ﬁ"‘ = g 1F da |157|¢
S ) b T =) A A Y
; :II i . ST N
il — = y Be=| .
7 [T ¥
5-1/4 / 6] 195
(1,2,3,4,5-Port) 2.0 350

$TETE 255




hiEES B iR
5 Way Pilot Type Solenoid Valve

TSM5000 Series
Manifold GL 3 4R) How To Order (B! SRR

Body Ported (H#E & %)

S TSS5M 5 -20- 04 1
- . —

(%)
=
'—
<
=
>
wl
=
o

4-@4.5 Hole 160, /~(1,3,5-Port)
} Series No. of Station
[ _ [ Bl HEHA

B & R EUGE E e - 5 [TSM5000 02 |2 Valves

g | | ¢ (\ ¢ 2 03 | 3 Valves

g 32 4 - g2 8 A2 14 | 14 Valves

el < a7 a) § @ EE —_—
3 g | O % %

= 2 < 2 & R

Tiel{e T
1.0 |
26.0
60.0 Blanking Plate

65 B=(16.0n+8.0) 65

A=(16,00+21.0) Q

Manifold Gasket

A,B : Dimensions(R <) n=Station (i )

o ——ationf 5 3 4 5 6 7 8 9 10 11 12 13 14
B 40.0 | 56.0 | 72.0 | 88.0 | 104.0 | 120.0 | 136.0 | 152.0 | 168.0 | 184.0 | 200.0 | 216.0 | 232.0
A 53.0 | 69.0 | 85.0 | 101.0 | 117.0 | 133.0 | 149.0 | 165.0 | 181.0 | 197.0 | 213.0 | 229.0 | 245.0
Manifold G #R) How To Order (B! SRR 535

Sub-Plate Type (£ 1R % 3 &)

TSS5M &5 -43- 04 1

200 614 l_l l_l
(1:3.5-Por) Series No. of Station
4-045 Hole = ] e EHE
e n// . B 1 | C} 5 [TSM5000D 02 |2 Valves
E @ | & ;;‘)’ €§< 03 | 3 Valves
gl 2 = ~| = 14 | 14 Valves
i ! 8 8 e g —_—
HEINES ® \ A &
: 2| < I
] ana 2 W
| 130 |
[15.0 |
33.0
65 B=[16.0n+11.0] 65 65.5
A=[16.0n+24.0]
2n-1/8
(2.4-Por) P=160 140 Blanking Plate
DD D S
2 2 2 KJz o i >
DDDD ol ==
Lt e Base Gasket
P=160 260 g
A.B : Dimensions(R <) n=Station(fi )
ftem —Station) 2 3 4 5 6 7 8 9 10 11 12 13 14
B 43.0 59.0 75.0 91.0 107.0 | 123.0 | 139.0 | 155.0 | 171.0 | 187.0 | 203.0 | 219.0 | 235.0
A 56.0 72.0 88.0 | 104.0 | 120.0 | 136.0 | 152.0 | 168.0 | 184.0 | 200.0 | 216.0 | 232.0 | 248.0

2.56 NTECTTE




